a+x

A3
26. What is the value of x satisfying the equation 16 (%))é —?

a—Xx

_\3
x 1 P AT FAFOT 16 (52) = 2 et A 72




27 IfxY’ = 1,yzx = 125and 27" = 243 (x, y and z are natural number),
then what is the value of 9x + 10y 18z7?
g’ = 1)y” = 1253k 2" = 243 (x y a7 2 Ifas gEame

), af ox + 10y\— 18z T AW w ——
a) 18 b) 15\ c) 12
' Y~
D=l (Y=
o
ws = o = 125= 5 2° =2‘17>
—Y=e—e=—+- -5 7.
N otuial et \A 123
q*go_gw—.;g

| SSCCGL T2, 09 Mar 2018 | z



23, If xY*2=1,y**? = 1024 and z**Y =729 (x, y and z are natural
number), then what is the value of (z + 1)Y+**1?
g 22 =1,y = 1024 3R 257V =729 (x,y TUT z WHfasw
&AW §), a1/ (z + 1)Y***12 bl AT F4T 87
a) 6561 000 c)4096 d) 14641

|

SSCCGL T2, 09 Mar 2018



29. If (3334 333 4 333) (233 +233) = 6,

XK= 5% then what is the value of x?
23 e -
34 b) 35 c) 33 d) 33.5
g.?)%% 2 3’9 6’1
" b '@bjn ?;5‘1 2'3,11 %
- %

SSCCGL T2, 18 Feb 2018



12 3 4 5 31 1
20 [f= X=X =X —X-—Xeeee X —=
If4 < g/ TRET - ” 2x,thenxequalsto
1 3 4
IR S XEXTX =X T Xeoeee ><—=—%a’rx_

A o B A6 2 52- 64
a)312 2b)32 7-2%36.2 d)37
2

|

X
9
X 26
- _l_- = __.\__
36
T g%




2.

If 3x —y = 3 whatis the value of8—x —?

IR 3x—y=3%, S FrAT F ¥ 2
a) 2 //b'fS (J c) 16 d) Data Insufficient

1S
1S
%‘: P
2




32. Ifa = 0.4039 then/4a%2 — 4a + 1 + 5a =?
3 a = 0.4039% @ V4a2 — 4a + 1 + 5a FT A

/2.2117 b) 2.4039
i 16=Y c) 2.8078 d) 1.8273

JQ”‘M)Q- /J@a-'f' t5a

0= +ve

X ao-|=-Ve
=050 = l43a

=g

|



33\/
(5o (1 V3) + (V3-2) =
j b) —1 c)3—-2V3 d)2v3 -3

Jz2=11132 1+ 23
= |




4. 1f2 < x < 3then/(2—x)2 +(x —3)2 =2
WR2<x<3gA/2-x)2+/(x-3)2=?

y A b) —1 [c)Zx—S d)5 — 2x
—
2

3 L2t 2 =




5:5’_ 5:'1

6

25. 3* — 31 =486, x=?

a)7 b) 9 05 L

::)X:é

SSCCGL T1, 26 Oct 2014



%6.

If 21 4 27+1 — 320 then the value of n is
R 271 4 27t = 320 & A@ln FT AR
a)6 h)8 c)5 /(7

24 -a20- -

N=7

D B Junior Secretariat
Assistant 03 Apr 2022 S3

11



27 I1f 5%+ 2b*1 = 189 & 541 4 2b-2 — 633, thenfinda + b .
Ife 52+ 201 = 189 3R 591 + 262 =633 §, A a+ b

U | b -2
;8 b) 7 ¢) 10 o 2 x2

Q
5422% 189 55%1.3°=¢632
25 gy ‘1 <3y

| | 12



. f(x+y+z)=a*(x+y+2) =a” (x+y+2)* =a”then,
(x+y+2z) =_af,(x+y+z)if__a_3_’(x+y+z)x=iz g ar
a)only (x+y+2z)=a b)x=y=2z=2a

/=y=z=§ X=y=z=a

'X—\-j—r‘z
(X+y+2) A s
7@«3»@: =) 1“’3-!-2;& S
0\\3:0:)k Q"= o
':) ="X_ :)Z;v_
X:k\j:l

| | 13



3ﬁT z = x¢ gal abc T AT &
c)-1 d)o

x4

CDS 18 Nov 2018



Yo. If a* = b, bY = c and xyz = 1, then what is the value of c*?

;’rﬁ' axzz)/,'byzcliﬁTxyz=1 g, a’ra@aﬂm;rmghn ?
a b) b c)ab d);




ut. Ifa*® = bY = c¢? and abc = 1, then the value of% +14 1 will be equal to

?Jﬁax—by—cw}lt{abc—lé' H’f1+ +1$TH'HW%'
VA

a) -1 /é’o c) 1 43

4 !

X y b = -
b= Kl )K’ | —%—'S—ti
C= kK = K

CDS 18 Nov 2018



1 1 1

y2- Ifam = bn = cv and abc = 1,then (m + n + p) is equal to

(&)—(_K) qﬁam—bn_cp\iiﬁT abc = 1%, a’r(m+n+p)a'3;m%;

b) 2 K c)1 d) -2
0=K" - ™ IQ=aboc KWH-YH-P
b=
C: K?




_ 1 1 1)\ .
uz. IF2*=3"=6 Zthen(;+;+;)|s
1 1 1
= =6 44 2)=?
mzx_3y_6;%a‘r (x+y+z) .

Kk
% b) 1 c); d)—%

| AWES TGT 2015



UY. 1f4* = 6= = 97 then (1+1+1)'

)

I 4 =67 =97 & ar ( +1+1)=?

i y 'z
% a0 b g d—
Q= K7 s
6= K ¢ dx V=6 i
| Al 1 -
4= K = 1
=S 02
ts = =4l
A




uS. If 2% = 3¥ = 127 then (- — ) is
z y

-~

T 2 =3Y =122 ¢ ar (1—1)=?
z y
a) 0 b)% 2 q)3
\ ) W "
2= k* 2 x3d= 12
\ %L A i
3 W K=
Al
2= kz.. = 1_’(\_\ :l
3 2




e, (0.111 .....)x = (324)Y = (8)%, find the relation between x,y,z .
(0. 111 )x = (324) = (8)? &, x,y,z & €T Fa=y A F |

1 1 1
A= b) o+ +7

);_x_|_5:31 d) None of these T_ |
( - gt g 1
q ) l.‘-__l - |
23 2%z 2 22
w Qa) >

21






gl
2= k*" Y
Yo K** @7 20 2¢
1
Z= KZC 'z‘)iz b+C
a bc
=) 2b(= abtac

f uR. If x2¢ = y?b = 7225+ 0 and
b .
then the value of = +bc+ca is:

c
e x22 = y2b = z2¢ % 0 \ 3T a2 =

yz,ar 2 +Zz+“’aa'r AT

3 b) 3ac
c) 3bc d) 3ab

v
3be
b

SSC CHSL 3 Mar 2020 S1 i



A
2.7= (j0000) ™

——

|—

00 =(10000)

1.1
:) \02- :\g“x‘a

oy

-
\,- —-— —-—
—

2 x

<IN

gi
0%7= (10000) &

—

2

uq, If (3 7)* = (0. 037)y = 10000 then
what is the value of— —=7
afX (3.7) = (0.037)” = 10000 £,
%—— FT AT T QI ?

a)l b) 2
A
m
& o
QV)
|



50. x,y and z all are positive numbers. If 3* > 9Y and 2Y > 4%, then
which of the following is true?

x,y 4T z Gt UeTTcAs &0 §| afe3* > 97 qur2? > 47, ar

farT & @ Fear a7 2 22
xX>y>z b)x>z>y 2\9>Z
z>y>x dy>x> _)3>22
379%  Dyye

X 2
3y 3¢

D 173\3
:)7(?\3_

SSCCGL T2, 09 Mar 2018 25






5). T is anon-zero number such that r’% > 190, This is possible only when

rWﬁ-awﬁw%}‘%r75>r9° ¢13g asft wag ¢ o9
0

a)-1<r<o0 <r<l1
gilr d-1<r<1
s Ao
Y& > Y
—t
0 1




s2. fp* =71 ?{:d " = p?, then which one of the following is correct ?

T W =p? g a PfRf@T & a #lq a1 §iF 82
b) xz = yw
dx—y=w-2z




b—c a—

5%. If 2b = a + c and y? = xz, then what is x?~€y°~%z%~P equal to?
I 2b=a+ 3R y2 = xz § a¥ 1Py 222b FEF WX § ?
a3y, b2 A1 d) -1

b—C."—- (X’b z“a—bgcﬁ& a-b
2
2 = Yyl 0-b Q o
\ v =
x6E0b)") Y 2 &2y -
aa-b Q—&
Ab=0+C :

| CDS 04 Feb 2018 | 29




M. If x > 0,x? = 2% and x* = 27 then what is the value of y ?
I x>0x2 =2 3R =2 Ay T AT FTE ?
a)232  p)2lt c)2 237

6‘18.

& 2 '37'
. =) K’Q 2 < > &\é’
@)-2" J?""" "
")
o £
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